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QB List (11)
Note: there is also a Z < L setup with 3 solves. but you will still need to learn basically the same
gbs for see S, so I'll still list the Z gbs. This can also remove the need for the SZ gb.
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https://docs.google.com/document/d/1c-HLKD55_aXsNACApYaCOBm-C-ClJGZhyvJ5x3qzcb8/edit
https://13pake.github.io/pc-guide/fumen-viewer/?v115@LhywEeR4xwEeR4ywNeAgH
https://13pake.github.io/pc-guide/fumen-viewer/?v115@9gilR4i0xhglAtR4C8g0xhBtD8RpxhAtE8RpxhJeAg?WXA18nABzngHBFbcRASESEBv5o2AFr4AA9gilR4i0RpglAt?R4C8g0RpBtD8zhAtE8zhJeAAPXAV4f2AwngHBFbcRASEy2A?v5o2AFr4AA9gilR40hglAtR4C8RpwhBtD8g0RpwhAtE8i0w?hJeAAPXAz5vKB3ngHBFbcRASUrRBv5o2AFr4AA




LS/JZ

This is for See LS, you cannot build this setup when S comes last. Build the next setup if
this is the case.

T.

This is for See JZ. This one is always buildable. Mirror the solves for this one.
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Solves (2)

(o |
LS pt. 2

This setup is a fallback to when you cannot build the LS setup above.
This setup is also 100% T for JZ, LZ, JS and SZ queues, but are already covered by gb setups.
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Reveal L

Reveal O

Reveal Z

Reveal S access S

Reveal S access T

S first

Z first

0sz

0zs

L last

S last

Z last

0>z

0>z

IL ogb

Build any 2p partial of the 3p.
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Reveal not JZ
Refer to the table above (and mirror the solves) if you want solves more specific to your
revealed piece.
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Reveal JZ

Depending on which 2p you built from the beginning, build the following 4ps.
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L

Reveal J

Reveal L

Reveal S

Reveal Z

Z last

S last

L last

Z last

S last

Jlast,S<Z

Jlast,Z<S
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